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基 础 巩 固
一、选择题
1．若cos65°＝a，则sin25°的值是(　　)

A．－a　　　　　　　　　
B．a
C.eq \r(1－a2)  
D．－eq \r(1－a2)
[答案]　B

2．若sin(eq \f(π,2)＋θ)<0，且cos(eq \f(π,2)－θ)>0，则θ是(　　)

A．第一象限角  
B．第二象限角

C．第三象限角  
D．第四象限角

[答案]　B

3．已知coseq \b\lc\(\rc\)(\a\vs4\al\co1(\f(π,2)＋α))＝－eq \f(3,5)，且α是第二象限角，则sineq \b\lc\(\rc\)(\a\vs4\al\co1(α－\f(3π,2)))的结果是(　　)

A.eq \f(4,5)  
B．－eq \f(4,5)
C．±eq \f(4,5)  
D.eq \f(3,5)
[答案]　B

[解析]　∵coseq \b\lc\(\rc\)(\a\vs4\al\co1(\f(π,2)＋α))＝－eq \f(3,5)，

∴－sinα＝－eq \f(3,5)，∴sinα＝eq \f(3,5)，

又α是第二象限角，∴cosα＝－eq \f(4,5)，

∴sineq \b\lc\(\rc\)(\a\vs4\al\co1(α－\f(3π,2)))＝cosα＝－eq \f(4,5).
4．已知sinα＝eq \f(3,5)，则sin(eq \f(π,2)＋α)的值为(　　)

A．－eq \f(3,5)　　　
B．－eq \f(4,5)　　　
C.eq \f(4,5)　　　
D．±eq \f(4,5)
[答案]　D

[解析]　sin(eq \f(π,2)＋α)＝cosα，而sinα＝eq \f(3,5)，

∴cosα＝±eq \f(4,5)，于是sin(eq \f(π,2)＋α)＝±eq \f(4,5).
5．已知sin(α＋eq \f(π,4))＝eq \f(1,3)，则cos(eq \f(π,4)－α)的值为(　　)

A.eq \f(2\r(2),3)　 　
B．－eq \f(2\r(2),3)　 　
C.eq \f(1,3)　　　
D．－eq \f(1,3)
[答案]　C

[解析]　cos(eq \f(π,4)－α)＝cos[eq \f(π,2)－(eq \f(π,4)＋α)]．

＝sin(α＋eq \f(π,4))＝eq \f(1,3).
6．已知cos(eq \f(3π,2)＋α)＝－eq \f(3,5)，且α是第四象限角，则cos(－3π＋α)(　　)

A.eq \f(4,5)  
B．－eq \f(4,5)  
C．±eq \f(4,5)  
D.eq \f(3,5)
[答案]　B

[解析]　∵cos(eq \f(3π,2)＋α)＝－eq \f(3,5)，∴sinα＝－eq \f(3,5)，

∴cos(－3π＋α)＝－cosα＝－eq \r(1－sin2α)＝－eq \f(4,5).
二、填空题
7．化简eq \f(sin\f(15π,2)＋αcosα－\f(π,2),sin\f(9π,2)－αcos\f(3π,2)＋α)＝________.

[答案]　－1

[解析]　原式

＝eq \f(sin[8π＋α－\f(π,2)]cos\f(π,2)－α,sin[4π＋\f(π,2)－α]cos[π＋\f(π,2)＋α])
＝eq \f(sinα－\f(π,2)sinα,sin\f(π,2)－α[－cos\f(π,2)＋α])
＝－eq \f(cosαsinα,cosα[－－sinα])＝－1.
8．已知sin(α－eq \f(π,4))＝eq \f(3,5)，那么cos(α＋eq \f(π,4))的值是__________．

[答案]　－eq \f(3,5)
[解析]　∵(α＋eq \f(π,4))－(α－eq \f(π,4))＝eq \f(π,2)，

∴α＋eq \f(π,4)＝eq \f(π,2)＋(α－eq \f(π,4))，

∴cos(α＋eq \f(π,4))＝cos[eq \f(π,2)＋(α－eq \f(π,4))]＝－sin(α－eq \f(π,4))＝－eq \f(3,5).
三、解答题
9．化简：eq \f(sin2π＋αcosπ－αcos\f(π,2)－αcos\f(7π,2)－α,cosπ－αsin3π－αsin－π＋αsin\f(5π,2)＋α).

[解析]　原式＝

eq \f(sinα－cosαsinαcos[2π＋π＋\f(π,2)－α],－cosαsin[2π＋π－α]sin[－π－α]sin[2π＋\f(π,2)＋α])
＝eq \f(sinαsinαcos[π＋\f(π,2)－α],sinπ－α[－sinπ－α]sin\f(π,2)＋α)
＝eq \f(sinαsinα[－cos\f(π,2)－α],sinα－sinαcosα)＝eq \f(sinα－sinα,－sinαcosα)＝tanα.
10．已知角α的终边经过点P(－4,3)，

求eq \f(cos\f(π,2)＋αsin－π－α,cos\f(11π,2)－αsin\f(9π,2)＋α)的值．

[解析]　∵角α的终边经过点P(－4,3)，

∴tanα＝eq \f(y,x)＝－eq \f(3,4).

∴原式＝eq \f(－sinα·sinα,－sinα·cosα)＝tanα＝－eq \f(3,4).
